H16 No.3 ('04/4/20)

1. By taking logarithms of the both sides, find the derivative for y = x* (x > 0).

logy = log x*
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I. Calculate the limitting values of Iin})f’(x) and |irLl)f'(X).

ii.Say f(x) isdifferential at x =0 or not.

i. Since the functions of g(x)=x*, h(x)=¢€* and s(x)=-x are differentiable for x=0, the
function f (x) constituted by them isalso differentiablefor x=0.

f'(x)=e* - (-2x) >0  (x— =0)

ii.At x=0,
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The slope of acurvedoesnot existat x =0, i.e. f(x) isnot differentiableat x=0.

Both of the limitting values of Iinl f'(x) and Iirr(l) f'(x) arezero and coincident with each other.

However, the slope of the curve doesnot existat x =0 since f(x) isdiscontinuousat x=0.



